C.APEACS) EXAM-2022

W9 W6 SUS 9 Uher giere Wiem 9 %el WIE 99 a9 7 Wil

A& H. : IDFG-U-PFT wieror gieaeht oTgshn
HH &A1
1244365 qﬁ&TUT E%rém A
HTHT FFTat Ta ghgadt
g ; 9 qu quTiek : 250
FIFIA

1. Tien WO B F g 91 9 39 whern giet f ugara sava W w R sed g o ww, wea @ oga
TN g ol WA SR 7 W) Al ¥ R, @ 3@ v wdhewr giees | ww e o)

2. FuaT e W fF OMR IwR-vse % SR v @ A TR 3R wigon gt s a A, B, C 91 D i & |
 vd R felht o o Rt & w@ ol geag w0 f Rreerd sufigar 6 ) Rt off sew o)/ et
6 B # sw-wwew fem W R s

3. 38 whaw gfEs W Wy § Ru o www § e S AT
o 1 wham gfeem w o Fo 7 fod)

4, 7@ Tham g 3§ 125 we (39) Ry e # ) e s R i sttt A J B # ) e ge § SR S
(3) fu Ty #) T A TF TGW F G o, B AW IW-TF W Al F e ¢ ;R v T oom 6w |
A e A ¥, A 39 Tegw ) SAfha S SR FeATan | T WA % e et we € Wyl A R

5. AT AW W T em A Ry T sw-mE W@ sifra w0 #) sw-ws & e e e @)

6. Tt YA % 3w A T

7. TR TEQ T 9 e gitwn % fafim wwiwl 6 Iegw IR-we W ARG A YR H, AR T THO-T F
I gl F agER F© foaw Iw-ww # W F)

8. T I Wit TG N IW-TH § W &A@ A4 T F G R HAR IW-TAH Aefierd F AW S| AR A
Ty e giee o S R agEfa R '

9. = ®M ¥ foru vk, waw g & o= § wow g

10. T I & forg qus
TgE w-TEt # Iufigar 3w Ry i ew s @ g gue Ran wmem)

(i) ¥F TE ¥ fog wR Y Iw ) Ieficar g vE W % foe iy e ww e Iw % o we @ P T
maﬁlm@-ﬁzﬁm%mﬁmml :

(i) aR #$ Infiean uw A ften I a1 R, @ W e IW WA Som, FAfy for e Il § @ uw Iw wE A g,
i oft 3@ v & forg Swdwger @ 3@ o' @ qve fean smem)

(iii) g Infiear gr1 1S e T € FoRn St R, sruiq Iefiear grn sw A fem s 2, @ 3@ WA % fog g g
T e smam)

W deh AUl Tg T YiEaet @ied st ®El Wg a9 q A @it

Note : English version of the instructions is printed on the back cover of this Booklet.




1. frferfea & & A-91, veeh 7@ gyl deneit
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(@) 2400
(b) 2640
(c) 2880

(@) 2000
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1. Which one of the following is the 4. Suppose a bank gives an interest of

difference of the sum of cubes of first 10% per annum compounded annually
ten natural numbers and the sum of for a fixed deposit for a period of two
squares of first ten natural numbers? years. What should be the simple
interest rate per annum if the maturity
(@) 2400 amount after two years is to remain
the same?
(b) 2640 :
; (@) 10%
(c) 2880
(b) 10:5%
(d) 2000
(c) 11%
2. A person buys an item from a shop for (d 12%

which the shopkeeper offers a discount
of 10% on the marked price. The person
pays using an e-wallet which gives 10%
cash back. Which one of the following
is the value of effective discount?

5. A runner’s average speed reduces by
25% every hour. If he runs 16 km in
the first hour and he runs for 3 hours,
then what is his overall average speed?

(@) 20%
(b) 18% (@) 12 km/hr
© 19% (b) 12-33 km/hr
(d) 13 km/hr
3. A solid spherical ball made of iron is
melted and two new balls are made
whose diameters are in the ratio of 1: 2. 6. Trough and ridge are
The ratio of the volume of the smaller
new ball to the original ball is (a) elongated area of low pressure and
of high pressure respectively
@ 1:3
(b) elongated areas of low pressure
(b)-1:5
(c) elongated areas of high pressure
(c): 218
(d) elongated area of high pressure and
d 1:9

of low pressure respectively
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7. The boundary layer of the forest at 10. Which one of the following protocols

which the energy exchange occurs is not an application layer of the
and some insolation is returned directly TCP/IP model?
to space is
(a) FTP
(a) forest floor
(b) HTTP
(b) forest soil
(c) DNS
(c) forest canopy (@ 1P

(d) forest litter

11. Which one of the following is a semi-
conductor device that is used to
increase the power of the incoming
signals by preserving the shape of the

~ original signal?

8. The organisms that prefer high salt
concentration habitats refer to as

(a) alkaliphiles (a) Register

(b) calcifuges (b) Transistor
(c) halophiles (c) Flip-flop
(d) nitrophiles (d) Diode

12. Which of the following combinations
9. Which one of the following is not an correctly represents the  genetic

Operaﬁpg system? materials in prokaryotes and
eukaryotes respectively?

(@) MS-Windows
(a) Nucleoid and Chromatin

b) Li

& Lk (b) Chromatin and Nucleoid
(c) Ubuntu (c) Nucleoid and Nucleolus
(d) MS-Excel (d) Nucleolus and Chromatin
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13. TEAHME (SFHIEM) 9=F GHEE ¥ w0 Sl

# At Bl F uEew dEEE ® PrefiRed
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(a) Tiiesh ™
(b) Tot iaseah sfemm
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- (@) TR (T wreT)
(b) FH (Z&)

(c) Trfire (Fhfesria)
(d) T (FHIETEE)
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(@) TS
(b) TH (FR)
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13. Lysosomes are sacs of the cell filled 16. One way of incorporating desired

with digestive enzymes. These digestive characters into crop varieties is
enzymes are synthesized by hybridization. In this process, there is

crossing between genetically dissimilar
(a) Golgi bodies plants. Which one of the following

crossings will not refer to hybridization?

(b) smooth endoplasmic reticulum
(a) Intervarietal

(c) rough endoplasmic reticulum (b) Interspecific

(d) lysosome itself (c) Intergenic
(d) Intragenic
14. Which of the following best represents

the cells of a meristem of plant?
17. Depending on the requirements,

(@) Dense cytoplasm, thin cell wall, plant nutrients are classified as
large nuclei and absence of micronutrients and macronutrients.
vacuoles Which one of the following is an

example of a macronutrient?

(b) Dense cytoplasm, thin cell wall,

large nuclei and large vacuoles R i o

b) Copper
(c) Dense cytoplasm, thin cell wall, (v) -

small nuclei and absence of (c)

Magnesium
vacuoles

(d) Chlorine
(d) Dense cytoplasm, thick cell wall,

small nuclei and large vacuoles

18. Buds produced in the notches along the

leaf margin of Bryophyllum fall on soil

15. Which one of the following animals has and develop into new plants. This is

a four-chambered heart? an example of which one of the following
types of reproduction?

(a) King cobra ) ;
(a) Vegetative propagation

(b) Turtle (b) Budding
() Chameleon (c) Si:)ore formation
(d) Crocodile (d) Regeneration
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19. 9YaTR (¥ITH) Fash geda: FFes ohasd %
foe et &2

(@) A
(b) TS
(c) [CIEE]

(d) @™

20. 3 TG x 3R y F THAA g9 T qA AN
ShHTT: uQéSu@WﬁTﬁqﬂ%lm
s it ke, 3Nk, A TR wafa §7
(@) k,=k
(b) 2k, =k

(¢) 9%k, =k

(d) 3k, =k

21. fefdfEd & & #F-w, 7@ & 7Es (FHR)
T »7

(a) URHA (Pa)
(b)) N/m?
(€ J/m?

(d) R
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22. F=fafaa & ¥ 59 vard =1 W@ 99 o=

T % fore & e s wewan?
(@) i

(b) w=

(c) iem (whr)

(@) <A

23. THE F A T F fou - yemeia gieen

IRER 87
(@) aR&go
(b) WEd
(c) HTadH
(d) WA

24. Tifs S A A S § wRafk B ® R

W Ry 9 el a9 (Rarm) ) @
FEA 87

(a) dreTHR
(b) T

(c) TR

(@) S (SRR)

25. ol srEda o= 1 BrRE g0 F 9fEm 2 m

B T8 Y & 0 BRlY
(@) +0-5 STEATH
(b) -0-5 STEATH
(c) +2-0 STEATH

(d) -1-0 ST3IHATX



19. Phloem tissues are mostly responsible 22. Which one of the following materials
for transport of cannot be used to make a convex lens?

(@) Aluminium

(a) water
(b) Glass
) oxygen (c) Sapphire
(c) minerals (d) Water
(d) food 23. The optical phenomenon responsible for

the blue colour of sky is

(a) dispersion
20. Two objects, x and y, have equal mass
and are moving with speeds u and 3u
respectively. Their kinetic energies (c) refraction

kyx and k, are related as

(b) reflection

(d) scattering

(@ kx=ky
24. The electrical device used for converting
(b) 2k, =k, mechanical energy into electrical energy
is called
(c) gkx =ky (a) voltmeter
b) ammeter
(d) 3k =k, (b)
(c) motor

(d) generator

21. Which one of the following is not the

unit of pressure?
25. The magnitude of focal length of

a concave lens is 2 m. What is the power

(o) pamcal(¥e) of the lens?

(b) N/m? (a) +0-5 dioptre
(b) -0-5 dioptre

(0. S : (c) +2:0 dioptre

(d) bar (d) -1-0 dioptre
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26. <Y 9oH % SRH foregq ufwy & gm
(@) A B S 2
(b) EHH T @
(c) TV ¥ S R

(d) o0 | g e B

27. A fFdl 7ferm awg w1 W wam A
yfafda & s, @ et wfew e fraa 1ok
¥ agerf?

(a) 2
(b) 4
(c) 6

(d 8

28. F=fafaas & @ F-w sfwgs, a3k
§R SF1 o |1y Affsran wtar &7

(@) UghafEm stieumse
(b) Ffcaaw ATFaTES
(c) Wfeam faaTEe

(d) . IR ATFETEe
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29. ¥ @A %1 Hiel e s &, @ f=fataa o

¥ fras FRU 9T T 3R e qdr Wl
T 77

(@) %A F1 Qifegq oo
(b) NaHCO,
(c) CO,

(d) H,0

30. fian ik a3 R fit fwa a1y 35 a¥ B, fan

3R BR 9 A 3fwa g 32 af ® aw I
92 Hi 3fma emg 17 O R far ek e
3 92 A 3frwa g w0 At

(@ 3099

(b)) 27 a8

() 2894

(d) 29 a4

31. H1 T 3 TH-forE A 124 3 ) 9=

e = *7
(@ 194
(b) 180

() 189

(d) 186



26. At the time of short circuit, the current
in an electric circuit

(a) becomes zero

(b) remains same

(c) increases sharply

(d) decreases sharply

27. If the linear momentum of a moving
object changes by two times, then its
kinetic energy will change by a factor of

(@) 2

(b) 4

) 6

d 8

28. Which one of the following oxides

reacts with both acid and base?

(a) Aluminium oxide

(b) Calcium oxide

(c) Sodium oxide

(d) Potassium oxide

JDFG-U-PFT/48A 11

29. Which of the following makes bread
soft and spongy when baking soda is
added?

(a) Sodium salt of acid
(b) NaHCOj4
(c) CO,

(d) H,0

30. The average age of father and elder son
is 35 years, the average age of father
and younger son is 32 years and the
average age of the two sons is 17 years.
What is the average age of the father
and his two sons?

(@) 30 years
(b) 27 years
(c) 28 years

(d) 29 years

31. A number is 124 more than its one-third.
What is that number?

(@ 194
() 180
(c) 189
(d) 186
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32. I #R 34 g0 60 km/hr Fi 7fa ¥ 3fR arh 35. e (IRew) fred daw o smar 27
1 gt v km/hr # 7fa & T w2 AR
9@t 7En H fed Tfd 50 km/hr 8, @ v @

it (a) HicEmm FEie
(@ 40 (b) ifEm wERE
(b) 30 o o s
(c) 100/3

(d) 35 @

33. AF it A R B figam fodt = =
10 R 3 g0 o w1 AR B owd wq 36 N R s #7

FE 15 T ¥ g W T §, @ A A

30 FE B e Rl § o w27 (@) W (W)
(@ 20f= b))
(b) 24 f&

(c) T (HTR)
(c) 25fF
(@ 30fA (@) ¥ (<)

34. IR R FH § e dewe § ¥ ggeh =R
it e o i sk 37. Ad @ (15 Mee) forum famurg 27
#1 3fgd 20 B, O ugeh MR Ifem @em ¥ g
i 1 3R = Bm? (@) T, e 3 Yafeay

@2 (b) @, FraTee 3R Yt
(b) 10

(c) @i, Trgefaem iR wifem
¢ 15
(d) 20 (d) i, Aefifiem o Yoifeam
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32. A car travels %th of the distance at 35. Borax is prepared from

a speed of 60 km/hr and the remaining

1 .
Zth of the distance at a speed of (a) calcium carbonate

v km/hr. If the average speed for the
full journey is 50 km/hr, then the value

of vis (b) magnesium carbonate
(@ 40 .

(c) potassium carbonate
(b) 30
(c) 100/3 (d) sodium carbonate
(d): 35

36. Cinnabar is an ore of
33. Suppose A and B can complete a work

together in 10 days. If B alone can

complete the work in 15 days, then (a) mercury
in how many days can A alone finish
the work?

(b) zinc
(a) 20 days
(b) 24 days (c) copper
(c) 25 days

(d) lead
(d) 30 days

34. If the average of the first four of five
numbers in decreasing order is 25 and
the average of the last four numbers :
is 20, then what is the difference (@)
between the first and the last number?

37. White gold is an alloy of

gold, nickel and palladium

(@ S (b) gold, cobalt and palladium
(b) 10
(c) gold, titanium and platinum
(o) 15
(d) 20 (d) gold, magnesium and palladium
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38. Yoh w1 EESSHEw fRae sufefa # fRn 42. TH-Z@ A 10 km T 1R A i W A

T Hehal 87 3R %AW 10 km/hr 3R 14 km/hr
o Tfa | e AR Fd 8| Fhor 99 F 9= 9
e i) Y
(b) S ()
. (@ 20 e
(@ F (b) 25 fiFe
(c) 28 fime

39. wfcwm iadEe S % Wy AfufwEa w= g

I (WIS ARE) 399 Kl 2| Tg Thae (@) Sg e
IR 87
(a) T sffem 43. T fre 3 9R Igren s 1 3 2 fa (=)
o Covve 3 Y Wik @ R7
() st e @ -
(d) s sAfvrfsRan :
® 3
40. TEEISH g i oAy e ferat #7
(@) 37 FHR (© %
(b) 37 TR
(c) 17 fmrfe (@ g
(d) 57 T

41. 5 @ W TH @, fwd el 44, TR when § 25 agfked v ¥ TS @

(afa-ueh) wfie B1 afe ofq-ueh 1 ww-g@ IW % fY +4 3% ¥ 3R Te@ W * o
¥ - A3 TR, A F 5 At B -1 3% | aR a=sfi 74 3% WW W 2,
5 Hfaat arefl T Uit # forae il @ Semn 394 foram wwat & IW €T few?
ST Gehdl &7
(@ 4
(@ 24
(b) 48 (b) 3.
) 60 () 5
(d 120 d 9
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38. Hydrogenation of alkenes can be carried 42. Two friends 10 km apart start running

out in the presence of towards each other at speeds of
10 km/hr and 14 km/hr respectively.
(a) copper After how much time will they meet
h other?
(b} zinc each other
(¢) aluminium (@) 20 minutes
(d) nickel (b) 25 minutes

(c) 28 minutes

39. Calcium oxide reacts with water to

. X (d) 30 minutes
produce slaked lime. It is an example of

(a) combination reaction * { rig

: 43. A coin is tossed 3 times. The probability
(b) decomposition reaction of getting exactly 2 heads is
(c) oxidation reaction (a) 1

(d) addition reaction

3
(b) 8
40. The atomic radius of hydrogen atom is
(a) 37 nanometer (©) %
(b): 37 'picometer
(c) 17 picometer (d) S
' 8
(d) 57 picometer
41. There is a group of 5 people among which 44, A test consists of 25 MCQs. Each correct
there is one couple. In how many ways ARaST Se +4 marks and incorrect
can these 5 people be seated in a row answer gives —1 mark. If a candidate
having 5 chairs if the couple is to be scores 74 marks, then how many
seated next to each other? questions were left unattempted?
(@) 24 (@ 4
(b) 48 (b) 3
(c) 60 (€):-5
(d) 120 (d 9
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45. foet =afs & o €2 3 €5 % ot 100 R 48. F=fafaa framse = faem Hifve .
2ok Rl w g #3208, M E2F

1. -1
fymt it g forah 27 . R
fbo0 I A B-w/A-A 5 e/
(c) 60 B/R?
(d) 70. (@ 13MR2
(b) FadA 2
46. ®fi-wfi ‘FrRg-gefT a@E Ieumw YomE (c) 1313
(sorRiaRs w foawe Rren)’ % 9@ @ I (@ ¥ 3
Trenfieht 1 ==t fopess dasl #f A St 27
(@) GuR-H& (wgen) ¥ FEfa fmme w 49, Wi H e F geof #, Ffefaa et
THEA R foEm Hifg
(b) FEE B ARAR N IW A () Ik ?ﬁ:
2.
(c) Ehia wftwaTfora wgfest 1 Fremmem iy oy
@ R it # & Rl 2w, P R
3 arg -8 -ary firemea 2/27
47. Tr=fafEa sut w few Al (@ 132
lﬁzﬁﬁ%%ﬂaﬂim%wﬁ (b)aﬁ?*l2
Tt 5ot 1 3w TR S R 'm
2. 7@ dua MRa Wre H H gon §, 3w (c) 13R3
oA Afd Wohe SoFt T o9 & wfa #wen (d) 9 3
Tgd ¥ I Yuig Atk B B
FoEt § ¥ BH-T /- ? 50. T@ & ¥, wRa 3 F=afafaa # 4 e 2o =
o . e T TER yorredt €7
(@ Faa 1 b e
(b) FaA 2 ) :
(c) 1 3R 23E () s
(d I 1IRAE2 (d) G IS TR

JDFG-U-PFT/48A 16



45. A person has a total of 100 coins 48. Consider the following missiles :
consisting of 2 and ¥5 coins. If the

Fre 8 1. Agni-I
total value of the coins is ¥320, then
the number of ¥2 coins is 2. BrahMos
(a) 40 3. Dhanush
(b) SO Which of the above is/are cruise
missile/missiles?
(c) 60
(d) 70( (a) 1.and 2
(b) 2 only
46. The technology known as ‘Electro- (c) 1 and 3
magnetic Air Lift System’ is sometimes
talked about in reference to (d) 3 only

(a) launching guided missiles from

alich 49, With reference to India’s defence,

consider the following helicopters :
(b) launching aircraft from warships

1. Cheetah
(c) navigation of nuclear-powered 2. Chetak
submarines
3. Rudra

(d) development of reusable rockets
Which of the above has/have turret

; : gun, rocket system and air-to-air
47. Consider the following statements :

missile?
1. Aluminium powder is used as
a solid fuel for rocket engines. (@ 1 and 2
2. Compared to liquid fuel propelled (b) 2 only
rocket engines, the thrust per e 5
amount of fuel burned is higher () e
in solid fuel propelled rocket (d) 3 only
engines.
Which of the statements given above 50. Recently, India gave a coastal radar
is/are correct? system to which one of the following
countries?
(@) 1 only (a) Bangladesh
(b) 2 only (b) Maldives
(c) Both 1 and 2 (c) Sri Lanka
(d) Neither 1 nor 2 (d) United Arab Emirates
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51. T frafean 3 Prafafaa # @ fr wersfa

T R e ) uEeh qeF Ha ¥ w9
$7?

(a) FEHIEY SR Fa YRaATGT
(b) T G Fw Fa a5 AR gwmr

(c) ANy TR Fa d#1 # F7 diar
(diar 57 FfRfa2t 57 o)

(d) eaTa |9 Fa gdl

52. fras g1 ‘ATOEE deew’ WRY iR FEiEE

o e

(@) T ST
(b) WRAE IR
(c) W TR
(d) T T

53. SFSIE weamW & Hay A, fy=faRed § @

HH-T1 HYT G LT 27

(a) =A9H S form wRlEn =1 RW
I e framehemm, BR-I w1 (¥
B3E) A GUR AR NG HTEAT A
foepma amfe R

(b) A SASIfd IR o WREE 9
et sfufrm % orgar, = § @
et i wETe AR Ry 9w §)

(c) T &= fopm Frlsq =1 g a9 23
IRl T SHSIGAT H G9H €9 Y
HET R

(d) SASTdE 3I-Aem & fou e =i
FEEA & Faid e W § R @
A A TR % fow 30 T wew
$ ST ¥

JDFG-U-PFT/48A

18

54. Frafafaa & @ S9-a1 wum ad 78 27

(@) ‘wof S weh AR A’ T wRd
W-USR HEHA B

(b) &1 uvifqd &3 FRiwEn iR e
foerE wFEEH 1970 ¥ v § WRY fFu
M A

) ‘ThiFa urn fEm FwEw A
GEE FA F 9] Gl arfio s
AT 2001 F RN Y 7T o)

(d) @i SEd W WU 9 T
o T -TSPR FEsHT B

55. TUEH-TTH g N dWG: fhE am @ S

ST 87

(d) U %1 g4

56. JHTEH & 3% & Reeral # ffafas

% @ fora fafy 3§ foran mn 27
(a) ST

(b) WA

(c) T

(d) Hich-ITTHTS



51. Which one of the following artworks
was hailed by Sister Nivedita as the
- ‘first masterpiece of Indian art’?

(a) Bharatmata by

Tagore

Abanindranath

Arjuna and Subhadra by Raja Ravi
Varma

(c) Sita in Captivity in Lanka by
Abanindranath Tagore

(b)

(d) Sati by Nandalal Bose

52. ‘Operation Sankalp’ was initiated and
implemented by the

(a) Indian Air Force

(b) Indian Army

(c) Indian Navy

(d) Ministry of Home Affairs

53. Which one of the following statements is
not true with regard to tribal welfare?

(a) The Comprehensive Tribal
Development Programme aims
at land development activities,

improvement of roof houses,
infrastructure development and
so on.

(b) As per the Scheduled Tribes and
Other Traditional Forest Dwellers
Act, villages in forests are provided
with community rights.

() The Special Area Development
Programme aims at distribution of
forest area produces to the tribals
equitably.

(d) The Special Central Assistance to
Tribal Subplan provides dairy cows
to tribal groups living below the
poverty line.
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54. Which one of the following statements
is not correct?
(@) The ‘Swarna Jayanti Shahari
Rozgar Yojana’ is an urban
self-employment programme.

(b) Drought-Prone Area Programme
and Desert Development
Programme were launched in
1970s.

(c) The ‘Sampoorna Grameen Rozgar
Yojana’ was launched after
restructuring the ‘Integrated Rural
Development Programme’ in 2001.

(d) The ‘Swarna Jayanti Gram

Swarozgar Yojana’ is a rural self-

employment programme.

55. The Battle of Rakshasi-Tangadi is
popularly known as the

(@)
(b)

Bgttle of Talikota
Battle of Khanwa
(c) Battle of Panipat

(d) Battle of Dharmat

56. Ashokan inscriptions in Afghanistan are
written in which one of the following
scripts?

(a) Brahmi
(b)

(c) Kharoshthi

Sharada

Greek-Aramaic

(@)

[ P.T.O.



57. YR 39T # $@1-7d 200 ¥ 300 $HA F
AF e T R % aR d frafafag § @

HH-TT HYT G 7L 27

(@ =7 (5&-1%) I o et w
foomdt ofR R-fafy doeponadl € ywema

|

(b) Fuit 3 5 wen § e gew F W@ ¥
Trmt oir afa & Ryt ) gard 401

(c) WEaTEdl 3 =i, ¥, @@ (Fe) v

e F fad I fop

(@ T Tyl #1 sfEmm @9, = mr
fesl A wedt ol 3R vy wwmm =)

Turfan B
58. HHi-I ﬁq?ﬁ-n % w9 gafaa A sk
gt % Ry T g2 w1 @ W wd sw
T :
-1 -1
@ wafwmam)  (snyfe am)
A. FEEH 1. =
B. anfesd 2. =M
C. foaem 3. &
D. wewft 4. Jem
He
@) K LBio CoicsD
Qs aatl i 3y 3
@) °A "B iiCx D
g k403
) K B OAED
<l G A,
(. . D
LG e (MRET
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59. wRd & fugn &3 A wfen F R @ TR
TR St 3R hi fghe wa 6 78 oft?

(@) 1967
(b) 1966
(c) 1965

(d) 1964

60. F=feflaa #§ & F-w w8 =& 27
(@) TF HH, S HEETHT 4R R

(b) I edits ar  (gwr), =
TRETHIG 9T &

(c) THER 4RI, ¥ HEEFHE a1 2|

(d) s aw, S gerErE e R

61. FHRTE ¥ aR § F=fifad § ¥ -2 99
& 87
1. @ wAfE, S &6 # Ed AR S

T@d 8, N ATEY AR (FwHa i)
FEd B

2. HHEET F I9E0 WIE Fadi h) eun
% foru foma i )

3. HARHA TF WH ¥ T WH | TN ¥
fore =t wefdfa & #= @ ¥

T o T e 1 Em R wd I gR
(@) aa 2 3R 3
(b) Faa 1 3R 3
(c) Faa 1 3R 2
(d 1,23R3



57. Which one of the following statements
about coins struck during 200 BCE to
300 CE in the Indian subcontinent is
not correct?

(@ The Indo-Greeks  introduced
bilingual and biscript legends on
their coins.

(b)) The Kushanas minted Ilarge
quantities of gold coins as well as
copper coins of low denomination.

(c) The Satavahanas issued coins of
silver, copper, lead and potin.

(d) Absence of Negama coins suggests
the declining power and authority
of merchant guilds.

58. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-I
(Vedic name (Modern name)
of river)
A. Drishadvati 1. Chenab
B. Askini 2. Chautang
C. Vitasta 3. Ravi
D. Purushni 4. Jhelum
Code
(@) A B € D
2 4 1 o
(b) A B C D
2 1 4 3
{c):"A B C D
3 1 4 2
(d A B (e D
S 4 1 2
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59. When was the Kothari Commission
appointed by the Government of India
to look into the education sector of
India?

(a)
(b)
(c)
(@)

1967
1966
1965
1964

60. Which one of the following is not
correct?

(@)

(b)

(c)

(@)

The Gulf Stream is a warm ocean
current.

The North Atlantic Drift is a warm
ocean current.

The Labrador Current is a cold
ocean current.

The California Current is a warm
ocean current.

61. Which of the following statements about
maps are correct?

1

Maps that maintain the true
shapes of areas are known as
conformal maps.

Maps are used to show spatial
relationships.

Maps cannot show route from one
place to another.

Select the correct answer using the
code given below.

(a)
(b)
(c)
(@)

2 and 3 only
1 and 3 only
1 and 2 only
1,2:ahd 3

[ P.T.O.



62. ‘Te3 99 (I Tha1)' & an # FrAfeaa ¥ ¥

HH-TT HYT & & 27
(@ YAF 985 99, Yot ) | aAufet F

sfear g1
(b) YT gE] T4, e hit aRfy &)

(c) T W, Y-I8 W YM! & " Aean
IrET-AE o g w@ §)

(d) ¥ 99 98 gEH I9 ¢, M @ Fuffa
fogati & mem @ yesft % 9w @R sifRa
foran < geha 1

63. T Ffd-R (A dm ') F waof 1,

Trafafaa # @ S-a1 w1 wd 27

(@ T M q@ W I=EH A T qu
TS Wg % HIY-91Y gt B

(b) T9HE o qd W Frem B ®
91 5 F WU-w1 T 2

(c) TAUHM FH91E sS4 & WiY-"iy R
@ 2|

(d) TqUHE J9E T4 F Y-y G Sedl
R 3R T N YE B W B

64. Fr=faflad # & FF-H, F@gd & N weEs

T &7

(@) 97X
(b) &
(c) <hreht

(d) w8
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65. 3= =TI H o o

aryar s
fagr =7 1 YWefys ", T H
Frafefaa wfwal # @ frad gafte 27

(@) JLAE H YA:TSIMG HET
(b) %@ﬁg@ﬁsﬁﬁﬁgﬁm
(c) & 3TfE =T

(d) Taurrei i wRefert ok o i wvifta
HE

66. ‘MWH FoTe’ & gWIG: IR fFg am ¥ off

ST ST 7
(@) ¥R@ shifd
(b) & ifd
(c) i wifa
(@) da (deft) swifa

67. ‘We-3 3fem whim’ frfifaa & @ e 2 @

et 87
(a) qm%a‘mmﬁmgzm

(b) T & % A, Ffdm @ puw
FHTHTRI Y qeheileh! ST W& T

(c) wieensti, oggfaa nfa ik sy
SHSfd WgREl % 9 SeHdiad @
QT &

(d) 18-50 98 & Y o1 F «mi & frg
=T gean



62. Which one of the following statements
about ‘great circle’ is not correct?

(a) Every great circle divides the Earth
into equal halves.

(b) Every great circle is a
circumference of the Earth.

(c) Great circles mark the longest
travel routes between locations on
the Earth’s surface.

(d) Great circle is the largest circle

that can be drawn around the
Earth through two particular
points.

63. Which one of the following statements
is correct with reference to normal
lapse rate?

(a) Temperature is highest at ground
level and decreases with increasing
altitude.

(b) Temperature is lowest at ground
level and increases with increasing
altitude.

(c) Temperature remains stable with
increasing altitude.

(d) Temperature first increases with
increasing altitude and gradually
starts decreasing.

64. Which one of the following is a tributary
of the Brahmaputra River?

(a) Ghaggar
(b) Mahi
(c) Kosi

(d) Manas
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65. The landmark case of D. C. Wadhwa vs.
State of Bihar in the Supreme Court is
related to which one of the following
powers of the Governor?

(@)
(b)
(c)
(@

To repromulgate ordinances
To appoint a Chief Minister
To grant pardon, etc.

To revise the emoluments and
allowances of the MLAs

66. ‘Operation Flood’ is also popularly known

as
(@)
(b)
(c)

(@)

the Green Revolution

the White Revolution

the Blue Revolution

the Yellow Revolution

67. The ‘Stand-Up India Scheme’ is related
to which one of the following issues?

(@)
(b)

(c)

(d)

Social security during old age

Providing technical knowhow to
young, educated or skilled workers
from rural areas

Promoting entrepreneurship
amongst women, SC and ST
communities

Insurance cover to people in the
age group of 18-50 years

[ P.T.O.



68. Fr=fafaa # @ H-dt wyrdiw doare 6 fasivar 70. ‘mmﬂ}zm’m%aﬁﬁm
& 27 F A ¥ BA-T/RA-Y G R/E?

1. 3ueh! dwon o9 2014 F 6 7 o)

(@) =ETEHE, Gfum 3R wRr ¥ fafm ) 2. o R W IrEr w1 Aui woen &

$ wferat o1 fd=m (3ee) o+ g €1 WW%WE—@%W
dA-alerl 3R et § dE B v
(b) ¥4 WHR IR T G&R F o aeE %I Ferar e |
% gra fafafde fopg o &) :
i T T e 1w W wd@ I i
(c) Efaum ¥ wm 3R usdl i wRwdt =
e e 21 Vo B
(b) FaA 2
(d) ¥R G9arR WiREl % goremor & figid
R 3TRE § (c) 1 3R 23

(d a@1IARTIH 2

69. fr=fafga woFl w o Hifv .

1. WRiYs Aot foemen-deft, Rrosh S 71. T=fafan ot w R i .
¥ vt oft, waf wRfes gt feswen

3 e & frese St @1 argEn e 1 ﬁﬂﬁ2000,@ﬁ-gmag@:az%|
2. Tdo To Tgo m’@@.—m_mm
2. WRd ¥ feee 9 ¥ wgw wads
=g areht oiv D) 32 B
g 9| :
I A § Y BA-A1/HA-Q G /R S B
I woAl § ¥ PH-A1 /-2 |9 B/37
(@) Fad 1
(@ 13R2
Fad 2 .
i (b) FadA 2
(¢ 13 23H e
(d) Td1dARTE2 @ ¥
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68. Which one of the following is not
a feature of Indian federalism?

(a) Courts can interpret the

Constitution and powers of

different levels of the Government.

Sources of revenue for the
Union Government and the State
Governments are specified.

(b)

(c) Powers of the Union and the States
are specified in the Constitution.

Indian federalism is based on the
principle of Separation of Powers.

(@)

69. Consider the following statements :

1. The early Malwa school of paintings
was influenced by Shirazi school
while the early Mughal paintings
initially followed Bihzad school.

2. The major exponents of Bihzad

school in India were Sayyid Ali and
Abdus Samad.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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70.

71.

Which of the following statements
about ‘Ek Bharat Shreshtha Bharat’
programme is/are correct?

1. It was announced in the year 2014.

2. Its.aim is to create an environment
which promotes learning between
the States by sharing best practices
and experiences.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
Consider the following statements :

1. Mirage 2000 is
fighter jet.

a twin-engine

2. “HAL ‘Tejas " is
fighter jet.

a delta-winged

3. Rafale is a hypersonic fighter jet.

Which of the statements given above
is/are correct?

(@) 1 and 2
(b) 2 only
(c) 1 and 3

(d) 3 only

[ P.T.O.



72. Fraferfad 3 @ frw wREE S Y o
W B o) F bR (Ree) ain
fififa Fre?

(@) = SRR
(b) g
(c) <iwgre Tifdq
(d) WEx

73. ThEEE gaEE  oifdwfE e,
‘Kh-47M2 fre’, frfafaa & @ fra 3w
H 87

(@) =H.
(b) %G
(c) &1
(d) Fo THo To

74. TRgIE TR, EE gE wm: wEER A
-G T % "ol fen W R, Reas
T W g 37

(a) 3 °IR
(b) dfees TR
(c) HfEE wrr
(d) STSE TR

75. TA & #, Frafefeaa § @ fra 3w ¥ w19 wia
A ‘s i wrfert R W gEdeR fen
27

(o) foa

(b) TS

(c) <feaur rhiem
(d) HYH I T
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76. Frfafad § ¥ F-w, wwa § g g

Fam S T B9

(@) F=w fwd e s

(b) €1 e 5@

(c) ¥TEH TFHE

(d) FHR T R Wiegz Yawm

77. Tt TRES F 9R F Prafafad s 4 @

FH-1/H- FE B/37

1. 9 3RRed 9@t & o R el v
% R § HEwaqel anfrferes e 9

2. YU TARE ®1 Y9N Soedl aF
Hifya == @)

o T e 1 W W I g
(a) a1

(b) FaA 2

(c) 1 3R 23H

(d Ad@13MmAA 2

78. dicwrian % SR #, AefaRes wet § @

F-41 TEl TE 27
() T® ATH H T & 2

(b) I YEEh ¥ Neft v S F g w=h
g oft)

(c) T& W™ e &1 G 371 |
(d) I8 QIO g1 = 7 off)



72. Which one of the following aerospace
companies designed and manufactured
‘Falcon 9’, a reusable rocket?

(a) Blue Origin

(b) Boeing

(c) Lockheed Martin
(d) SpaceX

73. ‘The Kh-47M2 Kinzhal’, a nuclear-
capable hypersonic missile, belongs to
which one of the following countries?

(a) China
(b) France
(c) Russia

(d) USA

74. Mariupol city, frequently mentioned in
news in the context of Russia-Ukraine
conflict, is situated on the coast of

(a) Aral Sea
(b) Baltic Sea
(c) Caspian Sea

(d) Sea of Azov

75. Recently, with which one of the
following countries did India sign the
‘Comprehensive Economic Partnership
Agreement’ ?

(a) Egypt
(b) Israel
(c) South Africa

(d) United Arab Emirates
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. Which one of the following is the oldest

Central Paramilitary Force in India?
(a) The Central Reserve Police Force
(b) The Border Security Force

(c) The Assam Rifles

(d The Commando Battalion for
Resolute Action

77. Which of the following statements about

‘Agency Houses’ is/are correct?

1. They were important commercial
formations in the late eighteenth
and nineteenth century India.

2. The operation of managing agencies
remained confined to Calcutta.

Select the correct answer using the
code given below.

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

78. Which one of the following statements

about Tolkappiyam is not correct?
(a) 1t is a treatise on grammar.

(b) 1t was composed between first to
fourth century CE.

(c) It was part of the Sangam corpus.

(d) 1t was composed by Panini.

[ P.T.O.



79. Wd § ‘UEft v % AR #H, Frefafad s § 83. % ¥ ffifaa # ¥ frg af@ = fm
? HH-91 FEl & 27 ARt feaw (ae€ Jedis ) mamn s 27
() fsfes awwr 3 Siwon 4 off % 750 vra

10
i o wfbeE § i AR % R W i
WA 719 @A ¥ o wdm §) (b) 13 HEd
(b) YR ® A1 wifhEaH # wia A% & = © 9w
@R 51w w1 folg, M = H
S R &, afesws < T F wEE W (d 2 w&ah
BT T4 o)
(c) T TERA AAHR F AEF X w@ef 84. W& & T i B Frefafea # A frw 3w %
(d) FEURR T 3dd: S-G9 % HIEH @ St
| W § it g
(b) A
so.wmﬁﬂﬁq-mmﬁmm o) i
(@) EW=RA (d) =ER
(b) FIEE
(c) e 85. Fmfafaa & & #-w1, 3o (zem) F wer =
?
(@) et YELK
(@) 3TTEeh Rt
81. T o 1% eim’ fopaert fammr 27 (b) et st Rt
(@) Tl TEe § Bufd :
Teranfers
(b) F Bl A (e qgm
(c) TER & e i3 (d) Tae wefeat

(d) <A H HEE TS
86. f=fafaa # & fhm =1 § 50% ¥ aiftss a3

82. JWMIR e F=fafaa § 4 frw =9 & g 9 N F Faia ik 87
i (@) =GR
(@) TG
. (b) EH
(b) G |
(c) TRAM (c) Tafeem
(d) FAeH (d) T
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79. Which one of the following statements 83. The World Wetland Day is celebrated on

about ‘Princely States’ in India is not which one of the following dates every
correct? year?
(a) The British Government declared (@) 10th June

that States were free to join

either India or Pakistan or remain (b) 13th February

independent. ;

(c) 9th March
(b) The decision to join either India

or Pakistan or remain independent (d) 2nd February

was left not to the people of

Princely States but to the Princely

Rulers. 84. Ganga water is being shared at Farakka

with which one of the following
() The Ruler of Travancore first

decided to remain independent. it
(d) The State of Travancore finally (@} Nepel
joined India through a plebiscite. (b) Bhutan
80. Which one of the following books was (c) Bangladesh
authored by Harshavardhana? (d) Myanmar

(a) Harshacharita

A st o 85. Which one of the following is a part of

(c) Ratnavali Deccan Plateau?

(d) Gitagovinda (a) Aravalli Hills

81. The King of Dance’ is a description of (b) Karbi Anglong Hills
(@) Trimurti at Elephanta Caves (c) Shivalik Hills
(b) Kaliyamardan of Krishna (d) Vindhyan Hills

(c) Bodhisattva Maitreya at Gandhara

(d) Bronze Nataraja of the Cholas 86. In which one of the following States,

more than 50% area is under Jhum
82. Anasagar Lake is located in which one cultivation? :

of the following States? :
(@) Manipur

(@) Gujarat

(b) Uttarakhand (b) Assam
() Rajasthan () Sikkim
(d) Karnataka (. ool
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87. fr=fafaa &% & frm w9 T 6 g W

Tead ()’ 7
(@) T
(b) <T@
(c) a&gY
(@) 5 e

88. wrd & fafy #1/% wia f=ffaa & & FF-w/

-3 B/87

1. 9Rd 1 Giqyu™

2. wfafEt (Fr)

3. wfes= fafy

4. Toias fafy

A9 o Mg g2 1 W R g I g
(@) a1

(b) Faa 1, 2 3R 4

(c) Had 2 3R 3

d 1,2, 33R4

89. fimffe # ¥ Fm-w/a9-7, tfmea

wf<aTerd #1/% wE 8/87

1. AR-erh gHag giifee s

2. WA Rl W3 o % W IEH Fe
HAT

e o T e 7w o s gh)
(@) Fad 1

(b) = 2

(c) 1 3R 23H

(d Iq1MIA2
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90. HEWH IUHA Gy & aR ¥, Fr=feifad wodi

A A HH-91/AH-2 g R /R

1. @ffd & & qa A gen § TS @ ¥
Al gew §)

2. wifa &% wwfa (Swwd) 6 Fghe
T BT LA g Y S B

ﬁﬁqmgms@nwﬁmﬁﬁm
(@ Fad 1

(b) FadA 2

(c) 1R 23

(d ad@1dRId2

91. F=fefaa # ¥ Ha-w1 Fom wd 78 27

(a) whmfg & frdt & o * faeg fmn
& 1 ST ST B

(b) Fa@ FuEER % foeg Afaama wea T
AT ST GhaT B

(¢ T Hfuig % feg fimr wwae 78 @

S T B

(d) wBE % wg % faeg e e @ s
Hehat B



87. Dhivehi’ is a principal language of which

one of the following Union Territories?
(a) Puducherry

(b) Ladakh

(c) Lakshadweep

(d) Jammu and Kashmir

88. Which of the following is/are source/

sources of Law in India?
1. Constitution of India
2. Statutes

3. Customary Law

4, Case Law

Select the correct answer using the
code given below.

(a) 1 only

(b) 1, 2 and 4 only
(c) 2 and 3 only
(d 1,2, 3 and 4

89. Which among the following is/are the

function/functions of the Cabinet
Secretariat?

1. To ensure interministerial coordi-
nation

2. Management of major crisis
situations in the country

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2
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90. Which of the following statements about

the Committee on Public Undertakings
is/are correct?

1. There are more members from the
Rajya Sabha than the Lok Sabha
in the Committee.

2. The Chairperson of the Committee
is appointed by the Speaker of
the Lok Sabha.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

91. Which one of the following statements

is not correct?

(a) A censure motion can be moved
against a single Minister of the
Council of Ministers.

(b) A motion of no-confidence cannot
be moved against the Prime
Minister alone.

(c) A censure motion cannot be
moved against the entire Council
of Ministers.

(d) A censure motion can be moved
against a group of Ministers.

[ P.T.O.



92. ‘sE@ TERU IR wWed uREdy  fimm

(To THo 3o Fo Ao)’ F siia Fraferag §
| HH-T1, AE a7 TE 27

(@) ¥ Sk

(b) G ! HH A & forg auf-srer et
(c) ¥iehFa et uReea iR amar fmfo
(d) R e 3R IaH

93. Y, IR (AH-BREe) JEAT

w41 ffafaa § @ foras el & it st 27
(a) TRl saferem W fefirem enferat (¥e)

(b) T & S Gl (SheiRw)’
% B (ATREH)

(c) S Al # agues fymmE e
T

(d) ‘w9 fam Sl & mem | oA

94. Hvfi-weft warEmrl § 3fgfaa v ‘ARnfeg A+’

Frefifad & & fored weifta 27

(@) TER THREIT § foemm rfifaee o
HS|

(b) I | 3 yEw-af [ R@ wH-gW
%aﬁaﬁzaﬁaﬂﬁm@a’tﬁm
=% B

(c) 9 qF AFI-H R Yl IR SRt
Fa (fga ze) § @ ™ ifmaam
(guatan) feemre

(d) T fawme egsmR, Sy % wga e @
T5
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95. YR &R ANWHH IAFT  Td

(e %o Mo Fo-g) Tw W fy m
T feemfeet % wesl ¥ frfaRan weEt
Wﬁ?ﬂ'{m: '

1. 32 %5 3R Yo Yo Gger Gean gl
H T B 24 62 F fiw wfEE vy
¥ e =)

2. W& (Fge@) o Yead wern,
2 W FH-R-FH oY 9 aF gl
W AR ATETIHAT T2 W TIREHRET Fy
Tt wega )

I YA § ¥ -1/ HA-A G /7

(@) Faa 1

(b) FHaA 2

() 1323

(d Td@1IMAF 2

96. SH-TER HILAHl § YI: 991 ¥ W 99 W

forg fafea e ofv wafm amed’ =1

Trgra fred deft 27

(@) Sgo To 3o H Hifae-19 Ak
Eicaczulcioict

(b) AR a1 1 H IEE

(c) HHERE T Iaas | i e

(d) g g Wit PR F Frem

97. A rfeawdr ¥ dey #, THERI § IR-aR

3P T AT Wk ‘A q’ Rred Haftra &7
(a) W@g‘fﬁ‘{hm

(b) & FEE Heh

(c) eI ‘arsiss Nfedl aren
(d) S, < fearfern & w2



93. Nowadays,

92. Which one of the following is not

a thrust area of the ‘Atal Mission
for Rejuvenation and Urban Trans-
formation (AMRUT)’ ?

(a) Water supply

(b) Storm water drainage to reduce
flooding

(c) Motorized urban transport and
capacity building

(d) Green spaces and park

‘nonfungible tokens’ are
talked about in the context of

(a) digital assets on a blockchain

(b) operations of ‘banking correspon-
dents’ in rural areas

(c) multifactor authentication security
requirement in banking trans-
actions -

(d) transactions through ‘small finance
banks’

94. The term ‘Sagittarius A*’, sometimes

mentioned in news, refers to

(a) a supermassive black hole in our
Milky Way Galaxy

(b) two giant black holes spiralling
around each other several light-
years away from the Earth

(c) a Supernova explosion seen in
real time for the first time ever
by scientists

(d) a huge asteroid that passed by very
close to the Earth
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. The principle of

. Consider the following statements with

reference to the latest guidelines issued

by the Indian Computer Emergency

Response Team (CERT-In) :

1. Data centres and service providers
shall compulsorily report cyber
security breaches within 24 hours.

2. Virtual Private Network providers
shall retain user data for at least
five years and share records with
authorities when required.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘common but
differentiated responsibilities and
respective capabilities’, often talked
about in media, refers to

(a) WHO’s COVID-19
Vaccination Drive

(b) contributions to the International
Monetary Fund

(c) reduction of
emissions

(d) contributions to the United Nations
Peacekeeping Operations

Global

greenhouse gas

97. With reference to Indian economy, the

term ‘bad bank’, frequently mentioned
in news, refers to

(a) an asset reconstruction company
(b) an asset management company -

(c) a bank with huge ‘honperforming
assets’

(d) a bank that has become insolvent

[ P.T.O.



98. 1941 wardl #, wra § fr=feifaa § 4 F-4,
Terrepen Y fasiwar =&t ofi?

(@) e 1 oA G IR F g B wn
w91

(b) HER (Redt), fewsr (whm) 2/
Y% 9EEM S @ |

(c) < Tero it el w1 farshr gam)

(d) TSI Hell 3R NI Fell F o=
=1 fas = gam)

99. wH-afme h/aE AR (GFEAw =
qiferel) % 9 % ¥4 F qRA % IW-gd T

I f=fafas wswtEl 3§ @ frae omrt %
B SR ¥ S 1 e 27

(a) 3TRGE
(b) e
(c) THA
(d) R

100. fen =it 1 Frafs % day # FrafaRad 3
q HH-41 981 87

(@) wﬁﬁgﬁaaﬂﬁaﬁw%g@z
=rmfd gR i S R
(b) I Tigfe weftd 3= =meE % g

EHfd H TR W WG F A g
#i St R

(c) I Tgfe dafta =9 % 3= =EEE
% TOHY | TSAUTS g Y S R

(@) ST Frafs Fefim 3= = 9 gom
W IFAH AT g Y S B
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1o1.mﬁﬁmﬁfﬁatﬁz®%maﬁm

AagHigEs foamr A
1. 9RdE 39 1878 % SR Y4 W2 i
oty & & fawet @)

2. 1878 % TR Y9 YR & GEWHE
forea g o @ ot gew (& van)
F WE & foeg quxenfia faman man o)

IFE F | HH-91/HA-8 T R/7
(a) Fad 1

(b) Had 2

(c) 1 3R 23

(d JId@1IA2

102. =9 3R Yfcerfees vemedi % Frafafas gmi 4 @

-4 wE) ghfera 87

(@) 1878 : TEU ATA-INHTH I&
(b) 1885 : Tead fort fqam

(c) 1785 : e =1 sfean foa
(d) 1898 : TS oA ITHETH &A1

1os.ﬁ=ri%«11?§aﬁﬁﬂn?ﬂauaﬁa§raﬁa-mw

-9 (cfe-diae) ® 3R Il =8 sfaidl
i Wt 7

(@) 3Ty W, SHETE, AN, FREe 3R
T Yeu

(b) BTG, BN, ARG, 7Y YoW 3R
LEUIE

(c) wxtETg, TE™N, fewaa W, 7 ww
3R AT

(d) 3Ny veu, BefaTe, Bhamn, e R
IR Heg yem



98. Which one of the following was not

a feature of the art of painting in India
in the 19th century?

(a) Art was being produced for the
open market.

(b) The artist (Shilpi) became distinct
from the artisan (Karigar).

(c) The technique of oil painting was
developed.

(d) The distinction between elite and
popular art widened.

99. As part of the Look/Act East Policy,

which one of the following capitals of
North-East Indian States is proposed
to be connected with Bangladesh via
rail route?

(a) Agartala
(b) Kohima
(c) Imphal
(d) Itanagar

100. Which ohe of the following is correct

in respect of the appointment of
District Judges?

(a) They are appointed by the
Chief Justice of the concerned
High Court.

(b) They are appointed by the
President of India on the advice of
the Chief Justice of the concerned
High Court.

(c) They are appointed by the Governor
in consultation with the High Court
of the concerned State.

(d) They are appointed by the Supreme
Court on the advice of the
concerned High Court.
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. Consider the following historical events

in India carefully :

1. The Indian press failed to protest
against the Vernacular Press Act
of 1878.

2. The Vernacular Press Act of 1878
was introduced by Viceroy Lytton
against the counsel of his own Law
Member.

Which of the above is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

102. Which of the following pairs of years and

historical events is correctly matched?

(@) 1878 : Second Anglo-Afghan War

(b) 1885 : Ilbert Bill Controversy
(c) 1785 : Fox’s India Bill
(d) 1898 : Lord Curzon becomes

the Viceroy

103. Which of the following sets of Indian

States are landlocked and do not have
an international boundary?

(@) Andhra Pradesh, Chhattisgarh,
Haryana, Jharkhand and Madhya
Pradesh

(b) Chhattisgarh, Haryana, Jharkhand,
Madhya Pradesh and Telangana
(c) Chhattisgarh, Haryana, Himachal

Pradesh, Madhya Pradesh and
Telangana

(d) Andhra Pradesh, Chhattisgarh,
Haryana, Himachal Pradesh and
Madhya Pradesh

[ P.T.O.



104. Ffafas < & ofim 4 of Rem ¥ w9 & 106. -1 ® gHA-1I F @iy gaferd Hifm ix

Fafera R : il % R o T g2 w1 owEm W wd sw
1. R @ RULE
2. ﬁmﬁ Sl -1 11
3. U (TR w WER)  (emafirs fgar)
4, «mfeen A. 9= 1. <aed
B. ER 2. TgE
= 1 TN & IW l
o i C. @t 3. s’
(a) 1-0-3-4 D. Sea 4. HH
(b)) 1-3-2-4 % :
ol & Big il
(¢ 2-3-4-1 3 2 4 1
(d) 2-4-3-1 (b)

w >
ENN.
N O

o

o Ko B e " h

105. Fmfafaa st § ¥ SF-w1/a9-3 wd 2/37 L@ e S
1. W und (W), = g (e

Yfeeee) gran g §) @A B C D

fieg 1 o8

2. TA A s ™ weErE g )
3. A A i v U% 9@ W oufeq Bt R)
107. H13 - forfi s = &t = gt 27

= e g g @ T W Ed s g
(a) E )|
(@ *ad 1
(b) TEm =+
(b) wHaa 2 3R 3
(c) &% A YR &1
(c) Faa 133
(d) =@ & i smnd (emie fedfe) &
(d 1,233 3R = T FHE
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104. Arrange the following passes from West 106. Match List-I with List-II and select the
to East direction : correct answer using the code given

below the Lists :
1. Bara Lacha lLa

2. Shipki La List-1 : List-II 8
(Type of plain) (Characteristic
3. Jelep La feature)
4. Bomdi La A. Bhabar 1. Marsh
B. Bh . Silt
Select the correct answer using the 5l p g
code given below. C. Khadar 3. Gravels
D. Delta 4. Kankar
(a) 1-2-3-4
(b) 1-3-2-4 Coas
(c) 2-3-4-1
(@ A B & D
(d) 2-4-3-1 : 3 2 % 1
(b) A B c D
105. Which of the following statements is/are 3 4 2 1
correct?
(c) A B G D
1. The jet streams are high altitude 1 4 2 )

easterly winds.

2. El Nifio is a warm ocean current. (d A }23 C 1;

3. El Nifio appears along the Peru
coast.

107. A non-banking financial company
Select the correct answer using the code cannot

given below.

(a) give loans

(@) 1 only :
(b) make investments

(b) 2 and 3 only

(c) borrow from bank
(c) 1 and 3 only

(d) seek demand deposits from public
(@1, 2.and:3 and cannot issue cheques
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108. Wi fir fify 3 wra & dfaum § f=feifag

Iygdl § ¥ fhg 3Iuey A s F9 6
T A7

(@) 948 (wR) #1 g
(b) T FdA

(c) @F | T IA-9RAT G H
EIEIEENE]

(d) 9Ra % TFUfd W RN e

109. fafaw @ wm uft = Fraforfaa & & fra &g &

it TR e 27
(@) - TS
(b) TsEE it
(c) dstrTa wfet
(d) U&=

110. Sfio THo dto &1 &7

(@) TTaA-3NERG IUHT

(b) ITH-NYTRA IeqTEA

(c) TR W Taeq-3nuria foshl =
(d) TosRa ST W 3IgTH-HIRE o

111. TE 9§ 2020-21 1 vgeh oo #

Sflo glo fo % 23-9 wftwema A F=ft 3 gwd
fomdt § 7.5 vl i wh g i
wagm, 2020-21 # W fEw gl
(Trerarll) wvgm S@aw qHg T?

(@) U-3T%R (I9)
(b) V-HR (3)
() K-SR ()
(d) W-3TR (99)
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112. THo o Sfo (Wad fawm @) sfean 2+ #

W (WRIFOT) F eyR W AifY smEm 3
faf o=l 1 wfaa Afw § wffea frn 2
Frafafaa & @ F9-d1, @ @ w6 Aof T
?7

(a) s (YgurEie)
(b) TTHIE
(c) TR TR

(d) 3=t

113. T ¥ Frl fia it gz feft & gadq ok 3@

SAIHBR S 1 5 S 87

(@) AR % T 7H g dR
(b) TAEA

(c) g MITA

(d) TEETF NG TREEA

114. 78 A =9 favysA % s A wfig om=m

fe o7t WrES ST WA B G B
(@) ¥ sfiaw

(b) e e

(c) WG §EH Ha

(d) S FR



108. The

Swaran Singh Committee
recommended the insertion of which
one of the following provisions into
the Constitution of India?

(a) Doctrine of Pleasure
(b) Fundamental Duties

(c) Nomination of Anglo-Indian
Members to the Lok Sabha

(d) Impeachment of the President of
India

109. The proceeds from disinvestment are

included as

(a) non-tax revenue
(b) revenue receipts
(c) capital receipts

(d) tax revenue

110. GST is a/an

(a) destination-based consumption tax
(b) origin-based production tax

(c) destination-based sales tax on

transaction

(d) origin-based tax on sales
transaction

111. In the first quarter of fiscal year

2020-21, GDP contracted by 239
percent and in the second quarter,
by 7:5 percent. The Economic Survey,
2020-21 preferred to call it a recovery in

(a) U-shape
(b) V-shape
(c) K-shape
(d) W-shape
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112. Based on the

scoring on SDG
(Sustainable Development Goals) India
Index, the NITI Aayog has classified
various States into certain categories.
Which one of the following is not one
of the categories?

(a) Aspirants
(b) Performers
(c) Fast runners

(d) Achievers

113. Who among the following is credited with

the introduction and popularization of
Dhrupad form of music?

(a) Raja Man Singh Tomar of Gwalior
(b) Tansen
(c) Naik Gopal

(d) Shaikh Bahauddin of Barnawa

114. Who among the following is the author

of the famous partition narrative,
The Other Side of Silence ?

(a) Amrita Pritam
(b) Urvashi Butalia
(c) Saadat Hasan Manto

(d) Manju Kapur

[ P.T.O.



115, /3 & fog W@ gud () =L & om0 &

IRa Frfefaa T qeadi vl § | frda
e FH B 17

(a) SARH
(b) HHALR
(c) T

(d) T

116. 3Rad WRAT SHIUFT 1 YU YATE wE fRar

e

(@) 1871
(b) 1872
(c) 1881

(d) 1861

117. 9Rd ¥ w5 ol & g9y ¥ Frafafad et w

foam Hifv
1. Wra# 4 = 3R 25 B WA wH 3

2. UEd, N9 giEed 3R Somnl daeE i
yymEfE e F i s v wfte
g

3. wEfm TS9 Ggf aS/Us9 W@l %
HftpTiean % 1| S o wive #

ITY FHYA § ¥ BH-E1/FA-A T R/E?
(@ 1, 23R 3

(b) Faa 3

(c) Faa 1 3R 2

(d) %aa 2 3R 3
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A. REH 1. s@ed
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119. ¥ ¥R i ga1 yarE Al yerHid v

1 |1 el el AT 77
(@) TS &

(b) HE &

(c) T g e

(d) FaF 8



115. Which one of the following cities on
the banks of Ganges declined in
importance when the railway link to
Bombay started operating?

(a) Benaras
(b) Kanpur
(c) Mirzapur

(d) Patna

116. When was the first All India Census

attempted?
(@) 1871
(b) 1872
(c) . 1881
(d) 1861

117. Consider the following statements about
the seaports in India :

1. There are 4 major and 25 minor
seaports in India.

2. The major ports are under the
administrative control of the
Ministry of Ports, Shipping and
Waterways.

3. The minor ports are under the
jurisdiction of respective State
Maritime Board /State Government.

Which of the statements given above
is/are correct?

(@) 1,2 and'3

(b) 3 only

(c) 1 and 2 only
(d) 2 and 3 only
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118. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Regional block) (Headquarters)
A. ASEAN 1. Brussels
B. CIS 2. Vienna
C. EU 3. Minsk
D. OPEC 4. Jakarta
Code :

(b)

B -A - B a¥EPD
4580 1 .9
ATem e B
qle s

(c)

(@)

2 1
A B C D
2 3 1 4

119. Solifluction is a geomorphic process
involving a special type of soil flow that
is noticed in

(@)

(b)

(c)

(d)

desert regions
karst regions
permafrost regions

savanna regions

[P.T.O.



120. Ffafas & @ sm-d@ sEte FcmEly, 123. fr=fafaa woFi # § 9-w1/30-8 9 7/37

ARfREE % S WigHia | Hag 77 1. 158 oREm-wwRa  frw weEed
A 2022 H W (IgI@) ¥ A
ot ) SiuscRERIR G
(b) Fa frew 2. T g9 (FEA gHEE) wwa F F=
o) s R ESEERER it i i
e = fo e gz 1 wEm W wE IR g
(@) 9 1
121. 9w "eF WeA (do ;o o) F an 7, (b) ¥ 2
Frafefaa Fort § @ FF-T/a9-3 78 2/ (© 1323
TEwEE ¥ R
2. #flo 3Ro o I gl (A F=f) 124. T¥E AFa AfUHR R & 3wy iR wew
I &1 9§ w1 FE a2 1 gerafy foa 27
Hr e Y 2 1 v W Eh I g (@ 5§91 70 = i Y T
(@) ¥ 1 (b) 3ad = 70 a8 H 3R 7F
(b) ¥ 2 (c) 599165 T4 Hi AY TH
i deRd (@ 394 65 T4 hi Y TH

(@ ST S 125, P T & T # & P-2 A T

¥ g 87

122. F=fafaa & @ S9-w 3w, 39b eewifes wfu (@) SR, SH, 9T, WA 3R sfeem
e (A ?
I RE B (b) AR, M, A9, WRd, i,

(@ T grieie 3 =R

(b) diiE (c) SN, M, e, Wrd, e iR
qredia

(c) SaTEH

(d) SR, SEH, A9, WRd, FEWR,
(@) TH e 3iR SSRmn
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120. Which one of the following geologic time 123. Which of the following statements is/are
periods is associated with the first correct?

Apgnaranpy of the marsppiat 1. The 15th ASEAN-India Summit was

(a) Lower Cretaceous held virtually in March 2022.

(b) Upper Cretaceous 2. European Union is India’s largest
regional trading partner.
(c) Early Jurassic
Select the correct answer using the code

(d) Middle Jurassic given below.

121. Which of the following statements about (@) 1 only
the Border Roads Organization (BRO)
is/are correct? (0l - 2 oy,

1. BRO is concerned with the (c) Both 1 and 2
construc.:tlon and 'mamtenancc'e .of (d) Neither 1 nor 2
roads in strategically sensitive

areas.
2. BRO undertakes snow clearance in 124. What is the term of office of the
high altitude areas. Chairperson and Members of the

National Human Rights Commission?

Select the correct answer using the code (@) 5 years or up to 70 years of age
given below.

(b) 3 years or up to 70 years of age

o1 only (c) S years or up to 65 years of age

(b) 2 only (d) 3 years or up to 65 years of age

() Both 1 and 2

(d) Neither 1 nor 2 125. Which of the following sets of nations are
members of the BIMSTEC Initiative?
122. Which among the following countries is (@) Bangla(.iesh, Bhutan, Nepal, India
not a member of the North Atlantic and Sri Lanka

Treaty Ofganisstion: UsaTO)? (b) Bangladesh, Bhutan, Nepal, India,

(a) Hungary Sri Lanka, Thailand and Myanmar

(b) Poland (c) Bangladesh, Bhutan, Nepal, India,
Sri Lanka and Maldives
(c) Belarus
(d) Bangladesh, Bhutan, Nepal, India,
(d) Turkey Myanmar, Sri Lanka and Indonesia
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